NC fraction OF (5) NC fraction OF (5) (hans) NC fraction OF (5) NC fraction OF (5)
Question 1 Question 1 Q1 Question 1 Question 1
a %0f4: a %of4: a) 2 %ofél: a %of4:
b %0f40: b %Of40: b) 20 %ofél(): b %0f40:
c %Ofl(): c %ofl(): c)b %ofl(): c %ofl():
d 1 of 100 = d 1 of 100 = d) 50 1 of 100 = d 1 of 100 =
2 2 2 2
e %0f2: e %of2: e) 1 %0f2: e %onz
f %OfQO: f %Of?(): f) 10 %onO: f %onO:
g %0f6: g %Of6: g) 3 %of6: g %Of6:
h %Of60: h %Of60: h) 30 %0f60= h %OfGO:
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NC fraction OF (5) NC fraction OF (5) (hans) NC fraction OF (5) NC fraction OF (5)
Question 2 Question 2 Q2 Question 2 Question 2
1 1 1 1
- — — — 4 — — — =
a 20f8 a 2of8 a) a 20f8 20f8
1 1 1 1
b 20f80 b 5 of 80 ) 40 b 2of80 20f8()
1 1 1 1
c §0f6: c §of6: c) 3 c 50f6: §0f6:
1 1 1 1
d 2060 d 2060 d) 30 d 2060 2060
1 1 1 1
e §0f10— e §of10— e) b e §of10— §0f10—
f L f 100 = f L f 100 = f) 50 f L f 100 = L f 100 =
2 © N 2 0 - ) 5 0 = 5 0 =
1 1 1 1
g §0f4: g §of4: g) 2 g §Of4: §0f4:
h L f40 = h ! f40 = h) 20 h ! f40 = L f40 =
2 T 2 T ) 2 T 2 T
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